
MATE 3032assignment6: sections8.1,8.2,10.3

40. Find thelengthof thecurvey = 2 + x√x, 0 ≤ x ≤ 1 .

41.

(a) Derivetheformula∫cscx dx = − ln|cotx + cscx | + C .

(b) Find thelengthof thearcof curvey = ln(sin t), π/4 ≤ t ≤ π/3 .

42. (Seepreviousexercise).

(a) Find thearclengthfunctionfor thecurvey = ln(sin t), 0 < t < π , with startingpoint
(π/2, 0) .

(b) Showthecurveandits arclengthfunctionon thesamegraph.For this,youmayvisit the
wolframalphasite.

43. Exercise38p.549,whereyouusetheequations(x) = ∫
x

0√2t + 3 dt .

44. Exercise40p.549.

45. Find theareaof thesurfaceobtainedby rotatingthecurvearoundthex-axis:

(a) 2y = x + 1, 0 ≤ x ≤ 2

(b) x = 1 − 2y , 0 ≤ y ≤ 2 .

46–48. Exercises27,31,33p.556.Forex27,usetheprincipleof comparison.

49. Finda formulafor thedistancebetweenpointsof polarcoördinates(r1, θ1) and(r2, θ2) .

50. Findapolarequationfor thecurvegivenin cartesianform by 2x + 2y = 2cx.

51. Exercise68p.668.Wolframalphais your friend.


